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2864 x 56 =
0.04x10=

What is MCCCLXIV?
6542 — 1534 =
__=125+1754
936 + 4 =

Find 30% of 1200 =

What is the value of the
underlined digit? 17534

62 _ 32 —
2543 + 1535 =

2864 X 64 =

0.04 x 100 =

What is MMDCCLXIII?
9863 — 4753 =

_ =475+7153
1872 + 8 =

Find 30% of 1600 =

What is the value of the
underlined digit? 415672

72 _ 62 —
2755+ 17534 =

2864 x 72 =

0.04 x 1000 =

What is MMMDCX?
17645 — 1653 =
_=1434+15334
3915+9 =

Find 30% of 2200 =

What is the value of the
underlined digit? 865386

12%- 8=
17453 + 254385 =



T o e

2864 x 56 = 160384
0.04x10=0.4

What is MCCCLXIV? = 1364
6542 — 1534 = 5008

1879 =125+ 1754

936 +4 =234

Find 30% of 1200 = 360
17534 =10000

6%-3%=27

2543 + 1535 =4078

2864 x 64 = 183296

0.04 x 100 = 4

What is MMDCCLXIII? = 2763
9863 — 4753 = 5110

7628 = 475 + 7153

1872 + 8 =234

Find 30% of 1600 = 480
415672 = 5000

72-62=13

2755 + 17534 = 20289

2864 x 72 = 206208

0.04 x 1000 = 40

What is MMMDCX? = 3610
17645 — 1653 = 15992
16768 = 1434 + 15334
3915+9=435

Find 30% of 2200 = 660
865386 = 60000
12%-8%=280

17453 + 254385 = 271838



